The Ageton Tables
by Henning Umland

The sight reduction tables developed by Arthur A. Ageton are based upon the divided navigational triangle. The latter is
derived from the general (oblique) navigational triangle GP-N-AP by constructing a great circle passing through GP and
intersecting the local meridian (the meridian going through AP) at aright angle (Fig. 1):
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N is the north pole. AP is the observer's assumed (or estimated) position, and GP the geographic position of the
observed body. t is the meridian angle. The first right triangle is formed by N, GP, and X, the second one by GP, AP,
and X. K is the angular distance of X from the equator, measured through AP. The auxiliary parts R and K are
intermediate quantities used to calculate z (or Hc) and Az. Both triangles are solved using Napier's Rules of Circular

Parts (see mathematical literature). Fig. 2 illustrates the corresponding circular diagrams:
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According to Napier's rules, Hc and Z are calculated by means of the following formulas. Observe the correct sign of
each quantity (northern Lat or Dec: positive, southern Lat or Dec: negative, western t: positive, eastern t: negative).

snR = sintléosDec O R = arcsin(sint [GosDec)

sin Dec = cosR[8in K O sin K :M O K :arcsinM
cosR cosR

Subsgtitute 180°-K for K in the following formulaif Ct[> 90°.
sinHc = cosR[tos(K - Lat) O Hc = arcsin[cosRm:os(K—Lat)]

sinR = cosHc&nZ O sinZ = sSnR O Z = arcsin SnR
cosHc cosHc

For further calculations, substitute 180°-Z for Z if K and Lat have opposite signs or if K <OLat[l.



To obtain thetrue azimuth, Z, (0°... 360°), the following rules have to be applied:

0-2 if Lat>0(N)AND t<0(E)
7, = H360°-z if Lat>0(N)AND t>0(W)
Hisoc+z if Lat<0(S)

Using the secant and cosecant function (seca = 1/cosa, csca = 1/sina), the equations for the divided navigational
triangle are stated as:

cscR = csctlsec Dec

cscDec
secR

cscK =

cscHe = secRZec (K - Lat)

cscR
secHc

cscZ =

In logarithmic form, these equations are stated as:

logcscR = logcesc t +logsec Dec
logcscK = logcscDec — logsecR
logescHe = logsecR +logsec (K - Lat)
logcscZ = logescR - logsecHe
Having the logarithms of the secants and cosecants of angles available in the form of a suitable table, we can solve a

sight by a sequence of simple additions and subtractions (beside converting the angles to their corresponding log secants
and log cosecants and vice versa). Apart from the table itself, the only tools required are a sheet of paper and a pencil.

The Ageton Tables (H.O. 211), first published in 1931, are based upon the above formulas and provide a very efficient
arrangement of angles and their so-called A and B functions:

A(a) = 100000 Oogcsca

B(a) = 100000 Oogseca

The factor 100,000 is used to obtain A and B values without leading zeros.

Since logarithms of negative numbers do not exist, one has to calculate with absolute values when using the Ageton
Tables. In order to obtain correct results, the procedure includes certain rules which have to be observed.

In most cases, the accuracy of Ageton'stablesis sufficient without interpolaton, which makes their use very convenient .



Theinstructionsfor using the Ageton Tablesare:

Mark each angle (Lat, Dec, and t) with its appropriate name (N, S, W, E). Treat all angles as absolute values (ignore
signs):

Positive Lat or Dec o N
Negative Lat or Dec o S
Positivet o W
Negative t o E

Enter the table with the meridian angle, t, calculated from GHA and the assumed or estimated longitude, and note A(t).
Enter the table with the declination, Dec, and note A(Dec) and B(Dec).
Calculate the A value of R, A(R):

A(R) = A(t) + B(Dec)

Find the tabulated A value nearest to A(R) and note the corresponding value for B(R). The angle R itself is not needed.

Calculate the A value of K, A(K):
A(K) = A(Dec) - B(R)

Find the tabulated A value nearest to A(K) and note the corresponding angle K. When t is greater than 90°, take K
from the bottom of the table (180°-K), otherwise from the top. Give K the same name asDec (N or S).

Combine K and the assumed or estimated latitude, Lat. Form the sum of both anglesif K and Lat are of contrary name.
Subtract the smaller from the greater angle if K and Lat have the same name. Enter the table with the angle thus obtained
and find the corresponding B value, B(K~Lat).

Calculate A(Hc), the A value of the computed altitude;

A(Hc) = B(R) + B(K ~ Lat)

Find the tabulated A value nearest to A(Hc), and note the corresponding B value, B(Hc), and Hc, the computed
altitude.

Calculate the A value of the azimuth angle Z, A(2):

A(z) = A(R) - B(Hc)

Find the tabulated A value nearest to A(Z) and note Z, the corresponding azimuth angle. Always take Z from the
bottom of the table, except when K is same name and greater than Lat (including Lat=0), in which case take Z
from the top of the table.

To obtain the true azimuth, Z,, apply the following conversion rules:

0z if Lat>0(N) AND t<0(E)
_Hi180°-z if Lat<0(S) AND t<O(E)
N T H180°+Z if Lat<0(S) AND t>0(W)
H360°-z if Lat>0(N) AND t>0(W)

If the observer is exactly on the equator (Lat=0), the rules can till be used when substituting Dec for Lat.

These conversion rules for the tables differ from those stated earlier because the Ageton Tables are based on absolute
values.



The Ageton method has a few weak points which require the user's attention:

If abody is near the visible horizon, it may be below the celestial horizon due to the effects of dip and refraction, and
the altitude may be negative. Hc is negative if K is of the same name as Lat and greater than 90°+Lat, or if K is of
contrary name to Lat and greater than 90°—Lat. In the latter case, Z isless than 90° and should be taken from the top of
thetableif K is greater than 180°—L at.

If the azimuth angle, Z, is approximately 90°, the A value of Z may be a negative quantity if the tables have been used
without interpolation (which is usually the case). This can be avoided by interpolating throughout or by substituting the
nearest tabulated A value for the calculated A value of R, A(R), at the top of the azimuth column.

The Ageton method may give inaccurate results if t or K is near 90°. Therefore, values between 82° and 98° should be
avoided and the respective sight discarded (forbidden range). The accuracy in this range can be improved by
interpolating B(R) from A(R) or using the Ageton tables in combination with Sadler's sight reduction technique*.

* See A. E. Bayless, Compact Sight Reduction Table (modified H. O. 211 Table), Cornell Maritime Press

The attached tables are a modified, more compact version of the original Ageton Tables. Angles are tabulated to
the nearest arcminute (0.5' in the original tables). Each table comprises the log secants and log cosecants of an
interval of 6° (original tables: 2.5°). Thus, the number of pages could be reduced from 36 to 15. A and B values
have been calculated with a spreadsheet program. The last digit has been rounded. In spite of their compactness,
these tables ar e accur ate enough for most practical applications.

Each table comprises a range of 6 degrees divided into 6 intervals of 1 degree each. Each 1 degree interval has
two columns containing the A and B values for the intermediate angles which appear, tabulated to whole
arcminutes, in the leftmost column of the table. The corresponding supplementary angles can be read from the
bottom line and the rightmost column of thetable.

The tabulated numbers in the following examples refer to the compact tables (1' intervals), not to Ageton's origina
tables:

Example 1

Lat -30°10' -~ 30°10'S
Dec +20°08' - 20°08'N

t +45° 33" - 45°33'W
A(t) = A(45°33) = 14639
A(Dec) = A(20°08) = 46318
B(Dec) = B(20°08) = 2738.3

A(R) = A(t) + B(Dec) =14639 + 2738.3=17377.3
Thetabulated A value nearest to A(R) is 17379. The corresponding value for B(R) is 12950.
A(K) = A(Dec) — B(R) = 46318 — 12950 = 33368.

The tabulated A value nearest to A(K) is 33366. The corresponding value for K is 27° 38' (taken from the top of the
table sincet < 90°).The name of K isN (same as Dec).

Since K and Lat are of contrary name, we form the sum of both quantities:
K + Lat = 27° 38+ 30° 10' = 57° 48'

B(K+Lat) = 27337

A(Hc) = B(R) + B(K+Lat) = 12950 + 27337 = 40287

Thetabulated A value nearest to A(Hc) is 40280.

Hc=23°18.



The corresponding value for B(Hc) is 3694.6

A(Z) = A(R) — B(Hc) = 17377.3 — 3694.6 = 13682.7

Thetabulated A value nearest to A(Z) is 13682.

Since K (N) and Lat (S) are of contrary name, we take Z from the bottom of the table: Z = 133° 08'.

SinceLat <0 andt > 0 we have to add 180° to obtain Z:
Z,, =313° 08
The exact values calculated with the formulas for the oblique spherical triangle are:

Hc=23°178" Z,,=313°08.2.

Example 2

Lat -70°15" -~ 70°15'S
Dec -50°22" -~ 50°22'S

t -110°03' - 110°03'E

A(Y) = A(110° 03) = 2715.2 (Enter t at bottom of table sincet > 90°.)
A(Dec) = A(50°22) = 11343

B(Dec) = B(50°22) = 19527

A(R) = A(t) + B(Dec) = 2715.2 + 19527 = 22242.2
Thetabulated A value nearest to A(R) is22239. The corresponding value for B(R) is 9660.8.
A(K) = A(Dec) — B(R) = 11343 -9660.8 = 1682.2 .

The tabulated A value nearest to A(K) is 1683.4. The corresponding value for K is 105° 51' (taken from the bottom of
the table sincet > 90°).The name of K is S (same as Dec).

Since K and Lat are of same name, we form the difference of both quantities:
K - Lat =105° 51' - 70° 15' = 35° 36'

B(K-Lat) = 8985.6

A(Hc) = B(R) + B(K-Lat) = 9660.8 + 8985.6 = 18646.4

Thetabulated A value nearest to A(Hc) is 18642.

Hc =40° 37'.

The corresponding value for B(Hc) is 11971.

A(Z) = A(R) — B(Hc) = 22242.2 — 11971 = 10271.2

Thetabulated A value nearest to A(Z) is 10268.

Since K (S) and Lat (S) are of same name and K greater than Lat, we take Z from the top of the table:
Z=52°08.

SinceLat <0 andt <0, we haveto subtract Z from 180° to obtain Z:

Z, = 127° 52



The exact values calculated with the formulas for the oblique spherical triangle are:

Hc=40°36.8" Z, =127°525.

Example 3
This example demonstrates how the accuracy may be affected when t (or K) isin the forbidden range.

Lat +53° 10" - 53°10'N
Dec +38°06' —» 38°06'N

t -90°54' - 90°54'E

A(t) = A(90° 54" = 5.4 (Enter t at bottom of table sincet > 90°.)
A(Dec) = A(38°06) = 20969

B(Dec) = B(38°06) = 10406

A(R) = A(t) + B(Dec) =5.4+ 10406 = 10411.4
Thetabulated A value nearest to A(R) is 10416. The corresponding value for B(R) is 20953.
A(K) = A(Dec) — B(R) = 20969 - 20953 = 16.

The tabulated A value nearest to A(K) is 15.9. The corresponding value for K is 91° 33' (taken from the bottom of the
table sincet > 90°).The name of K isN (same as Dec).

Since K and Lat are of same name, we form the difference of both quantities:
K - Lat=91° 33 - 53° 10' = 38° 23

B(K-Lat) = 10575

A(Hc) = B(R) + B(K-Lat) = 20953 + 10575 = 31528

Thetabulated A value nearest to A(Hc) is 31534.

Hc = 28° 56'.

The corresponding value for B(Hc) is5790.1.

A(Z) =A(R) —B(Hc) = 10411.4 -5790.1 = 4621.3

Thetabulated A value nearest to A(Z) is4621.7.

éince K (N) and Lat (N) are of same name and K greater than Lat, we take Z from the top of the table:
Z=64°02.

SinceLat > 0andt <0, we leave Z unchanged:

Z,, =64°02
The exact values calculated with the formulas for the oblique spherical triangle are:
Hc=29°06.5 Z, =64°14.0

Thus, the error in dtitude is —10.5', and the error in azimuth is —12.0'.

Errors occurring in the forbidden range are hard to predict and can be even more dramatic than shown here.



In order to improve the results of example 3, we interpolate B(R) from A(R) and repeat the calculations with the value
thus obtained (tabulated values printed in bold face):

A B
10416 20953
10411.4 X
10406 20969
10411.4 -10406
B(R) = X = 20969 + —————— {20953~ 20969 ) = 20969 - 8.64 = 20960.36

10416 —10406

A(K) = A(Dec) — B(R) = 20969 — 20960.36 = 8.64

The tabulated A value nearest to A(K) is 8.7. The corresponding value for K is 91° 09' (taken from the bottom of the
table sincet > 90°).The name of K isN (same as Dec).

Since K and Lat are of same name, we form the difference of both quantities:
K -Lat=91° 09 - 53° 10' = 37° 59’

B(K-Lat) = 10337

A(Hc) = B(R) + B(K-Lat) = 20960.36 +10337 = 31297.36

Thetabulated A value nearest to A(Hc) is 31306.

Hc = 29° 06'.

The corresponding value for B(Hc) is 5860.2.

A(Z) = A(R) — B(Hc) = 10411.4 —5860.2 = 4551.2

Thetabulated A value nearest to A(Z) is 4548.2.

éince K (N) and Lat (N) are of same name and K greater than Lat, we take Z from the top of the table.
Z=64°14.

SincelLat > 0andt <0, we leave Z unchanged:

Z, =64° 14



